	Прочитайте приведенный ниже текст. Преобразуйте слова, напечатанные заглавными буквами после номеров В11 – В16 так, чтобы они грамматически и лексически соответствовали содержанию текста. Заполните пропуски полученными словами. Каждый пропуск соответствует отдельному заданию из группы В11 – В16.


	Boarding schools

	B11
	A boarding school is one where the pupils sleep, eat and work in or near the school grounds. A typical modern fee-charging boarding school has several separate ______ houses, either within the school grounds or in the neighborhood of the school.
	RESIDENCE

	B12
	Pupils generally need _______ to go outside defined school boundaries; they may be allowed to venture further at certain times.
	PERMIT

	B13
	A number of senior teaching staff is appointed as housemasters and housemistresses. They take quasi-parental _______ for perhaps 50 pupils resident in their house, at all times but particularly outside school hours.
	RESPONSE

	B14
	In some school each house has pupils of all ages, in which case there is usually a perfect system, which gives older students limited authority and some privileges together with _______ for the welfare of the younger ones.
	ACCOUNTABLE

	B15
	In others, separate houses accommodate needs of different years or classes. Houses readily develop distinctive characters and a ________ rivalry between houses is often encouraged in sport.
Houses usually include study-bedrooms or dormitories, a dining room or refectory where pupils tale meals at fixed times, and a library, hall of cubicles where pupils can do their homework.
	HEALTH

	B16
	Houses may also have common rooms for television and ________, kitchens for snacks, and perhaps computer, ping-pong or billiards rooms. Some facilities may be shared between several houses.
	RELAX


	Прочитайте текст с пропусками, обозначенными номерами А22 – А28. Эти номера соответствуют заданиям А22 – А28, в которых представлены возможные варианты ответов. Обведите номер выбранного вами варианта ответа.


Day schools VS Boarding schools
The majority of modern public schools in the UK and state schools in the USA – schools that offer free education – are co-educational day schools. Children that attend these schools remain in family settings with family support and nurture that helps to reduce the stress of  A22 ________ any school for a child. They are able to retain contacts with friends and neighbours.

Being less expensive, these schools offer a wider A23 ________ of courses and activities. On the other hand, these schools have larger classes and lower academic standards as compared to more selective schools.

Pupils there have a greater A24 ________ of encountering bad social trends: drug culture, gangs, anti-intellectualism. Of course, much depends on the regional location and the administrative policy of each school.

Boarding or recreational schools have smaller classes with more individualized instruction; can often (though not always) boast higher academic standards that are focused A25 ________ making students more independent thinkers; encourage them to make many decisions on their own. Graduates of such schools may have an advantage when applying at more popular universities.
Students of such schools A26 _________ lifetime friendship and the so-called “old school tie” – the system of after school, lifelong support and lobbying former schoolmates – can be truly applied in this case.

But there is the A27 ________ side of the medal: missed opportunities for parents to educate their children on values; disruption of family: homesick kids, parents missing their children; narrower and less-diverse A28 _______ contacts; expensive tuition.

	A22
	1) entering
	2) starting
	3) going
	4) getting

	A23
	1) group
	2) collection
	3) mixture
	4) selection

	A24
	1) ability
	2) opportunity
	3) chance
	4) prospect

	A25
	1) on
	2) at
	3) for
	4) to

	A26
	1) assemble
	2) build
	3) construct
	4) design

	A27
	1) another
	2) other
	3) different
	4) optional

	A28
	1) social
	2) sociable
	3) society
	4) civil
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Education in the UK: Pages of History

Prior to 1944 the British secondary education system was rather haphazard. Schools were created by local governments, private charities, and religious foundations. Schools varied greatly by region. A22 _______ was not available to all, and secondary schools were mainly for the upper and middle classes.

In 1944, secondary education was A23 _______ as a right for all children, and universal, free education was introduced. From 1044 to 1976 state-funded secondary education A24 _______ of three types of schools (the Tripartite System): Grammar School, Secondary Technical School and Secondary Modern School. The basic assumption of the Tripartite System was that all should be entitled to an education appropriate to their needs and abilities. It also assumed that students with different abilities should have a different A25 _______. Pupils were assigned to one of the three types of school according to their performance in an examination taken at age eleven, the Eleven Plus examination.
Grammar Schools were intended to A26 ________ a highly academic curriculum. There was a strong focus on intellectual subjects, such as literature, classics and complex mathematics, aimed A27 _______ developing students’ ability to deal with abstract concepts. Secondary Technical Schools were designed to train children with ability in mechanical and scientific subjects. The focus of the schools was on providing scientists, engineers and technicians. Secondary Modern Schools would train students in practical skills, equipping them for less skilled jobs and home management.
Due to the expense of building facilities for three types of schools, very few Technical Schools were built, and education in the UK retained its class character: the upper class children attended Grammar School which received the lion’s share of funding; lower class children attended Modern Schools which were largely neglected. Only children who A28 ________ to Grammar Schools had a real chance of getting into a university.

	A22
	1) Access
	2) Attendance
	3) Entrance
	4) Reception

	A23
	1) recognized
	2) recalled 
	3) found
	4) realised

	A24
	1) inserted
	2) included
	3) contained
	4) consisted

	A25
	1) agenda
	2) curriculum
	3) courses
	4) plan

	A26
	1) instruct
	2) learn
	3) teach
	4) study

	A27
	1) on
	2) at
	3) to
	4) for

	A28
	1) attended
	2) admitted
	3) went
	4) graduated








